93. Tax and transfer pricing
1. Fill in the Gaps
Up until the 2006 Companies Act, company directors’ sole priority was the best interests of ________________________. So before 2006 tax minimisation could be said to be a duty under company ____________. Directors had the perfect excuse. Since the 2006 Act, however, directors are responsible for the interest of wider __________________________ including staff and creditors – and responsible for making sure the company acts within the law. Today, therefore, company directors should see that tax minimisation is not an acceptable _________________________ . Yes, of course the company should operate so that tax bills are kept reasonably low – but reconstructing the company to artificially minimise tax is neither _________________ nor in the spirit of the law. Transfer pricing has always been the multinationals’ method for doing this. 
Missing words: law, ethical, stakeholders, objective, shareholders 

2. Data Response
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As shown above, recent years have seen a fall in corporation tax income for the government and a significant switch from big to small companies. In Chancellor George Osborne’s first year in office small firms paid 35.6% of all the corporation tax; by 2013/14 that had risen to 47.2%, allowing big companies to pay less.
2.1 From the above data, calculate the amount of corporation tax paid by big companies in 2010/11 and again in 2013/14. Comment on your answer.
______________________________________________________________________________________

______________________________________________________________________________________

2.2 Explain how a giant company such as Mars can use transfer pricing to minimize its UK corporation tax liabilities. 
______________________________________________________________________________________

______________________________________________________________________________________
2.3 Would it be helpful if the UK government published the sales of every major business operating in the UK together with its corporation tax payments? Do you think firms can be shamed into changing behavior? 

______________________________________________________________________________________

______________________________________________________________________________________

3. True or False?

3.1 Whereas Nestle pays no corporation tax in the UK, Cadbury’s pays a considerable amount.

3.2 Between 2010 and 2015 the UK government cut corporation tax from 28% to 20% for large companies, but made no change to corporation tax rates for small firms.

3.3 Rates of corporation tax among western countries range from Ireland’s 12.5% to America’s 35%. 

93. ANSWERS - Tax and transfer pricing
1. Shareholders … law … stakeholders … objective … ethical
2.1 From the above data, calculate the amount of corporation tax paid by big companies in 2009/10 and again in 2013/14.

· In 2010/11 they paid 64.4% of £43.3bn = £27.89bn
· In 2013/14 they paid 52.8% of £40.2bn = £21.23bn

· That’s a fall of 24% (almost all paid for by higher taxes paid by smaller firms who perhaps haven’t the access to transfer pricing and other methods of tax avoidance)

2.2 Explain how a giant company such as Mars can use transfer pricing to minimise its UK corporation tax liabilities. 

· It can import cocoa and sugar from Mars subsidiaries in Ghana at artificially high prices, sucking the profit out of its UK operation (because of high costs) and transferring it to Ghana (enjoying high revenues)

2.3 Would it be helpful if the UK government published the sales of every major business operating in the UK together with its corporation tax payments? Do you think firms can be shamed into changing behavior? 

· Perhaps yes, especially for those with recognizable names – and that deal directly with the public, e.g. Starbucks or McDonalds
· Perhaps no, as these things become a media storm for perhaps two days, then people forget

3.1 False (Cadbury apparently pays next to nothing)
3.2 True

3.3 True
Total Corp tax take (in £bns)
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										2009/10		2010/11		2011/12		2012/13		2013/14

								SMEs (Corporation tax below £1m)		36.6		35.6		37.9		43		47.2

								Large companies (Corporation tax £1m+)		63.4		64.4		62.1		57		52.8

								Total corp tax		38.2		43.3		43		40.1		40.2
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